SOLUZIONI PROVA CILS A2 DICEMBRE 2013
TEST DI ASCOLTO

PROVA 1

1. A
2. C
3. A
4. B
5. A
6. C
PROVA 2

1. B
2. B
3. B
4. a
5. A
6. C
COMPRENSIONE DELLA LETTURA

PROVA 1

1. B

2. C

3. B

4. A

PROVA 2

3 – 5 – 9 – 11 
PROVA 3
1. A

2. G

3. B

4. H

STRUTTURE DELLA COMUNICAZIONE
PROVA 1

1.BELLO
2.GENTILE
3. SPAZIOSE
4. GRANDE
5. ABBONDANTE
6. FRESCHI
7. CASALINGHE
8. MERAVIGLIOSO
9. CATTIVE
10. BASSO
PROVA 2
1. SIAMO ANDATE
2. HAI VISITATO
3. È
4. HA
5. PUOI
6. ABBIAMO PASSEGGIATO
7. ABBIAMO PRESO
8. HA DETTO
9. CI SONO
10. È PIACIUTA
PROVA 3

1. A
2. C

3. B
4. C
5. C
6. B

7. B
8. A

